TH3E12 A 258 (XER)

R RENFEHIS (A15) 2B B #H

Frx ESEHAsE: 2418 b+
(ERISHERESD)
fnfh &h EEHh ENFE = (ke) F oy b tExIER 5|
AH Y5 axt Hfike) | 2EEA) | ®EEAE) | REM) | SEME) | £EME) | REME)
130100 |[7ZLNC A # 27,980
F= 1,230 270 960 10 972 972
(i=Eis 3,000 0 3,000 1 54
EE 2,650 0 2,650 5 3,024 972
32 12,275 500 11,775 864 1,080 432
RiF 8,470 1,404 7,066 12 864 540 972 540
130340 [;£ICALA ¥ 23,710
FE 2,000 0 2,000 10 1,296 540
G 14,710 90 14,620 10 1,080 1,296 324
e 6,000 0 6,000 10 1,274 950
BR 1,000 0 1,000 10 950
130400 [Z (S5 3 6,770
dtiEE 840 840 0 10 1,458
&5 5,600 4,000 1,600 10 1,393 3,024 1,728
fE 100 0 100 10 1,004
130600 [NACA a3 5,540
i Ll 155 0 155 5 3,672 972
®me 4,565 0 4,565 5 - - - 6,480 648
131100 [ 3¢ % 32,584
Ik 11,215 4,440 6,775 15 540 324 783 540
25 7,020 4,830 2,190 15 864 540 1,080 648
EE 5,950 4,429 1,521 13 1,350 702 1,361 216
A 8,399 5,550 2,849 12 540 324 540
131700 [Fr Y 3 36,820
R 6,470 5,450 1,020 15 994 929 1,037
=50 21,920 5,200 16,720 10 702 454 864 324
£E 8,430 3,216 5214 15 1,004 1,004
131800 | [F5NAE 3 3,005
£E 620 459 161 0.2 103 65 108 67
®me 1,040 12 1,028 [] Z. 808 3,240 1,080
& 852 0 852| 0.18 86
131910 [FHE a3 3,474
N 50 0 50 05 702 302
EE 71 3 68 05 302 302 270
il Ll 455 0 455 1 864 270




TH3E12 A 258 (XER)

R RENFEHIS (A15) 2B B #H

Frx ESEHAsE: 2418 b+
(gL HEREFST)
fnfh &h EEh ENFE = (ke) F oy b tExIER 5|
AH 2Y5E Ext Hfike) | 2EEA) | ®EEA) | REM) | SEME) | $EME) | REME)
0 1,778 25 1,753 5 Z,700 1,620 540
iR 1,050 0 1,050 10 2,808 2,592
= 40 0 40 05 162
131950 [B12E 3 8,395
£E 405 159 246 3 1,944 864 1,944 702
B 3,100 958 2,142 3 1,620 1,080 1,620 864
fE 90 0 90 3 864 648
134100 [#A)1 3 11,910
32 3,100 800 2,300 5 1,944 1,782 2,268 1,296
=l 130 0 130 5 1,620 756
IR 490 55 435 5 1,512 2,106 864
=40 1,325 1,125 200 5 2,160 1,296 1,620
=) 6,115 3,110 3,005 5 2. 160 1, 620 2,376 1,458
134200 |E R 3 1,300
A¥T O 1,300 450 850 10 1,836 1,782 1,944 1,782
134300 |#nF 3 3,394
3] 518 70 448 2 1,188 1,026 1,188 594
=40 2,432 187 2245 0.3 130 130 108
12 388 47 341 4 1,836 1,944 1,836
e 56 0 56| 04 140
134400 |F<+ % 6,099
EE 1,982 64 1,918 [] 1,728 3,564 1,080
REAR 4,070 0 4,070 4 2,052 324
134500 |E—< > 3 6,481
= 950 59 891 0.15 59 59 54
= 1% 5,261 330 4932 0.13 16 49 76 32
135100 [LNAVIF A % 120
=40 30 20 10 2 Z. 700 1, 620 2,700
BR 90 0 90 2 1,512 1,080
135200 | B = 3 192
FFL 192 0 192 ] - - - 5,400 1,296
136100 [MAL & 3 6,170
FIE 150 0 150 5 1,571 1,528
®me 1,100 0 1,100 5 2,592 1,893
= 20 20 0 05 162
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~

R RENFEHIS (A15) 2B B #H

Frx ESEHAsE: 2418 b+
(ERISHERESD)
fnfh &h EEHh ENFE = (ke) F oy b tExIER 5|
AH 2Y5E Ext Hfike) | 2EEA) | ®EEA) | REM) | SEME) | $EME) | REME)

N 3,920 0 3,920 5 2,160 1,188

= I 600 430 170 5 1, 404 864 1,674 1,188
136200 | 5% ¥ 1,140

dtiEE 1,140 0 1,140 10 - - - 2,570
136210 | A—9 1> % 5,010

e 5,010 1,590 3,420 10 2.970 1. 296 3,240 1,080
136300 [ B ¥ ¥ 8,850

EiR 8,850 1,870 6,980 10 4,104 2,592 4,320 1,620
136400 |72 AN ¥ 7,600

dviEE 7,600 3,800 3,800 10 3.240 2,160 3,024 1,620
136600 |f=F1a= % 1,800

dtiEE 100 30 70 10 3,456 3,456

EE 1,700 100 1,600 10 Z 376 3,434 2,700
138100 [ LU =1F 3 3,627

£E 289 50 239 0.1 184 162 43

®me 2,490 120 2,370 0.2 335 313 329 119
138500 |LHLE ¥ 3,737

K% 3,729 436 3293 0.2 81 11 81 65
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TH3E12 A 258 (XER)

R RENFEHIS (A15) 2B B #H

= ENFEHAE 64.4
(gL HEREFST)
fnfh fnfh EEh ENFE = (ke) F oy b tExIER 5|
AH Y5 axt Hfike) | 2EEA) | ®EEAE) | REM) | SEME) | £EME) | REME)
240400 [ R4 BN A MDA # 960
eI 760 0 760 10 - - - 3,834 3,132
240700 | @R M A A ¥ 52,766
FEIT 33,480 9,220 24,260 10 3. 078 1. 620 4,104 1,944
F 4117 2,949 1,168 10 3,240 1,620 3,240 1,944
iR 15,169 6,395 8,744 10 4,104 2,700 4,104 648
242320 (33 —ILk % 390
= 390 370 20 10 5. 184 3,240 4,860
242830 [ S\CYAC ¥ 1,770
5 270 10 260 10 3,672 3,780 3,672
it 1,500 1,500 0 3 648
243610 |[EAME 3 1,500
12 1,500 805 695 5 Z. 808 2. 160 3,240 2,160
246000 |LV\6Z a3 4,576
£E 59 39 20| 025 648 454 648 540
=l 66 2 64| 045 1,620 1,620
12 1,215 593 622| 027 1,080 432 972 378
&= 2 0 2| 022 1,620
& 1,186 388 798 025 864 594 864 410
AEAR 1,834 719 1,115 0.25 10Z 137 648 486
= % 214 203 11| 027 702 540 648 594
247100 |[7—J/LR A a3 536
E4 0 349 68 281 8.5 21, 600 8. 640 21,600 8,640
=il 187 187 of 85 9,504 3,024
257100 |IZL#i ¥ 1,772
= 150 86 64 0.7 1,620 1,620
EH 1,622 1,214 408( 0.17 454 410 432




SF34E12 A 250 (HHER)

F A R RS T S (AE5) BHE H

R EIbng e = 12.5 %
(S I E B B )
A . EN7EH (kg o H05E RIS
2 4 — — filik HLAL - — — — —
AH H05E RIS FEM e ED | HE ()| Z2 i) PEH EAE(ED) | FED | ZE)
101 | RERT=\ 393 77 316 Kg | 1,620 918| e 3,780 540
102 |[ZHEIZW 3,217 3,217 Kg B+ 2 2,927 108
111 | ED 415 54 361 Kg |&fE 432 108|711 1,512 346
113 [ RROLD 29 29 Kg frJE 5,400 1,729
114 |5 -H 156 156 Kg HEE[E] 2,484 1,620
115 [z 5 5 Kg frJE 1,944 1,296
121 |boigE 256 51 205 Kg |&fE 1,404 756 | fe i 1,944 540
134 |[7=Z 356 174 182 Kg [E=k 2,300 1,620[5ER 2,592 1,080
137 |[mHES< 691 188 503 Kg [FHL 3,780 3,024 | FEFf 6,231 1,188
138  |IR7eED 98 98 Kg frJE 3,240 2,160
140 |DIT 10 10 Kg B|&ES 48,600 21,600
147 |EHZ O 150 150 Kg e 10,260 7,000
158 [N AED 513 4 509 Kg [K% 1,080 EJ 2,268 1,350
201 |Vl 393 393 Kg = 360 200
203 |/hHL 18 18 Kg (e 297 270
206 |1 590 590 Kg T3 864 244
207 |&AE 8 8 Kg AbyiE 810
208 [0k 74 74 Kg R 2,376 972
212 |FHESD 954 954 Kg AR 2,419 1,134
222 [0 27 27 Kg =5 234 144
251 |[KAESA 608 219 389 Kg [|&F 4,644 3,888 | &l 5,994 3,078
252 |WALESA 244 161 83 Kg  |#%h 2,873 2,700| /5 57 2,862 2,700
254 [EDIEFESTAH 650 650 Kg FE T 3,186 1,080
303 |[NAZIEW 37 11 26 Kg [EIF 468 256 FEFF 756 468
305 [FE4nok 66 4 62 Kg | 1,836 IiE] 4,860 1,890
319 |&b5 1,065 131 934 Kg |foEkL 1,458 810| HUHR « Fnag L 1,944 352
332 | EA BPE 436 436 Kg E|RES 1,674 1,458
351 |&EH 62 3 59 Kg [E=k 9,504 PR 14,040 3,888
354 [I1ZEH 141 40 101 Kg [T 1,620 1,612[F % 1,620 729
355 [HVY 160 10 150 Kg |Z5H 864 324 |REA - 50 1,188 500
356 [LUA 135 135 Kg F5EL 1,296 810
357 |7RE 40 40 Kg HEE[E] 1,013
358 [KxH 20 5 15 Kg [ 1,728 R 2,160 1,620
362 [ 425 2 423 Ke [&E 1,728 Lo 3,240 540
401 | 48 28 20 Kg [k R 324 I B 2,052
402 |H7pE 40 40 Kg R 4,428 3,348




PO T FR YL ISR T (AN Y) B H
SF34E12 A 250 (HHEH)

Bk REREE: 32 b (s 0 2B )

= B R ) ke R M|

S0 L A s Fa B PEHN EfECFD| H ()| 22 (M) - PEHN rfE(H) EME(I?O)Z ZAE(H)
507 [m—re 10 10l Re Jeve 850 780
512 [iRA L 30 30| Ke 555 3,802 407
523 | A O 1,439 1,439] Kg T 1,470 1,188
524 |l EA Y 62 62[ Kg e 702 594
558  |nf 110 110 Kg EF 2,350 1,030
560 |mui=Z 151 151] Kg TE 9,720 900
566 [ iRANC 1,366 1,366] Kg -




SF34E12 A 250 (HHER)

F A R RS T S (AE5) BHE H

T EIbng e = 2.1 %
(S I E B B )

= ek Hh5E H%
;Efép o izl iﬁl (kg) _ e B \ _ 7 _ j JH | _

AH wY5E FEXFELS | PEHH AR ()| ZefiE(M) PEH EAE(D) | () | ZefE(M)
701 [BYDA 620 620 Kg | 1,180 620
705 [7=3<D 267 256 11 Kg |= 1,188 270] e 2,808
710 [5BHHT 144 144]  Kg = IR 648
713 [LL=b LT 116 116 Kg Aty 10,800 6,480
754 |BASAE 8 8 Kg JeviEE 905
755 |BHHL 27 27 Kg HEE[E] 679
756 |BAET 21 21 Kg R 884
761 [BodAEE 102 6 96 Kg | 1,389 1,319 fe e - Fsfk (L 1,548 750
763 [EINIC 28 28 Kg |&fE 7,624 6,646
801 [HALE1T 432 432] Kg Fg 7 - ALEE 2,808 896
802 [HaXiF 10 10 Kg Aty 972
805 |HE=1E 246 246 Kg B[Sz 783 510
807 [Hikko 1 46 46 Kg EIRES 8,424 3,456
810 [B K+ 52 52 Kg A5 i) 3,888 1,782




